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9.1

B

9.2

a) SA = SB = 1, SC = 2.

b)

c) –

9.4

a) We take B = g
4!m

4
0 and find F = F∆ = m3

0

√
gK
3 with ∆ = 4

m0

√
3K
g .

b) K ∂2m
∂x2

= g
6m(m2 −m2

0)

c) –

d) m = m0 tanh
(
m0
2

√
g
3Kx

)
, which has a wall thickness equal to our estimate in a) down to

an arbitrary numerical constant of order 1 (from the freedom of choice in defining the extent
of the rapidly changing part of the tanh() function).
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10.9

a)

Ωk = ±
√
c2k2 − d4k4

4
+ i

d2k2

2

ωk = Re(Ωk)

Γk = −Im(Ωk)

Qk diverges as k−1 as k → 0.

b) The real part of ωk vanishes at λ = πd2

c .

c) Only a) and b) were assigned.
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